





8085 MICROPROCESSOR

» PROCESSOR

» MICRO



PROCESSOR

Device that processes whatever- numbers, specifically
binary numbers, 0's and 1's



WHY MICRO?

Device that processes whatever- numbers, specifically
binary numbers, 0's and 1's



BASIC COMPONENTS OF MICROPROCESSOR

BASED SYSTEM

»MEMORY
»SYSTEM BUS
»CPU

»>1/0 PORT

Data bus
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MEMORY

READ ONLY MEMORY (ROM)

RANDOM ACESS MEMORY (RAM) OR READ/WRITE (R/W) MEMORY



System Bus —-wires connecting memory & 1/0 to

microprocessor

Address Bus—>

=  Unidirectional

= |dentifying peripheral or memory location
Data Bus—>

» Bidirectional

 Transferring data
Control Bus—>

 Synchronization signals
 Timing signals
«  Control signal



CPU/ MICROPROCESSOR

— Control unit: control microprocessor operations.
— ALU: performs data processing function.

— Registers: provide storage internal to CPU.

— Interrupts

— Internal data bus



/0 PORT

Various components required for data entry and data output
These are called PERIPHERALS

SWITCHES, KEYBOARDS, A/D CONVERTERS, MOUSE, ETC



CPU/ MICROPROCESSOR.......MORE

— Control unit: control microprocessor operations.
— ALU: performs data processing function.

— Registers: provide storage internal to CPU.

— Interrupts

— Internal data bus



CPU/ MICROPROCESSOR.......MORE
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INTEL 8085 BUS STRUCTURE

v’ It is a 8-bit microprocessor
v" Data bus has 8 lines
v It has 16-bit wide address bus

v’ It is capable of address 2216=65536=64k memory locations
v" The 8 MSBs of the address are transmitted by data/address
bus A,.-Ag and 8 LSBs are transmitted by AD,-AD,



INTEL 8085 ACCUMULATOR (A)

v’ It is a 8-bit register associated with ALU

v’ It stores one of the operands of arithmetic and logical
operations.

v The result is also stored in it.

v" It can receive or send data to memory and other registers

directly from it



INTEL 8085 TEMPORARY REGISTER

v’ Itis a 8-bit register
v' It can store the data coming from other register and then

these data act as operand of arithmetic or logical
operation.



INTEL 8085 ARITHMATIC LOGIC UNIT (ALU)

v’ It performs arithmetic or logical operations.

v" The contents of accumulator and temporary register are
the inputs of ALU.

v The results of ALU is the stored back in the Accumulator.



INTEL 8085 FLAGS




INTEL 8085 Flags




INTEL 8085 General Purpose Registers




INTEL 8085 PROGRAM CONTROLLER (PC)




INTEL 8085 STACK POINTER (SP)




INTEL 8085 Instruction Register & Decoder

— Instruction is stored in IR after fetched by processor

— Decoder decodes instruction in IR



INTEL 8085 Internal Clock generator

- 3.125 MHz internally
- 6.25 MHz externally



INTEL 8085
PIN CONFIGURATION

x, =i Y 0PV«
x, =2 39 3 HOLD
RESET OUT 13 38 [ HLDA

sop 4 37 (=3 CLK (OUT)

sID =5 » 36 [ RESETIN
TRAP 16 35 [ READY
RST7.5 7 34 [ 10M
RST6.5 .8 33 3,
RSTSS 9 N 32 A RD
INTR .10 31 2 WR
INTA .11 30 B2 ALE
AD, 12 29 35,

AD, .13 28 [A,

AD, .14 271 A,

AD, .15 26 A,

AD, 116 25 A,

AD, .17 24 A,

AD, C]18 2 33A,

AD, .19 2 A,

Vg £420 21 LA,




INTEL 8085 x, =t Y 0PV«
x, =2 39 =3 HOLD
RESET OUT {3 ] s
. 4 37 (=3 CLK (OUT)
o %’ms 1&2X & X,) : The 8085 has an on-chip oscillator circuit 5_33 z 5 + 36 [ RESETIN
excepting the frequency determining elements. For thisacrystalorRCnetwork  TrAP 16 35 [ READY
is connected at these two pins. RST7.5 .7 34 3 10M
RST6.5 .8 33 (35,
e Pin 3 (RESET OUT) : A high signal at this pin indicates that the up ~—T55 =49 lTos? 2 25
is being reset INTR 10 o s
§ peing reset oy INTA .11 30 [ ALE
® Pin 4 & 5 (SOD & SID) : Pin 5 is the input pin for serial input data AD, 12 2 s,
pin4is the o i tput dat: AD, .13 28 A,
AD, 14 27 A,
AD, .15 26 A,
AD, 16 25 DA,
AD, 317 24 L3I A,
AD, 18 L =
AD, .19 2 3 A,
Vg C420 21 A,




INTEL 8085

x, =it Y 40PV«
, X, =2 39 [ HOLD
® Pins 20(V. ) : It is the system ground. RESET OUT {3 38 [0 HLDA
0P .. aun sop {4 37 23 CLK (OUT)
; ins 21 to 28 : The signal lines A, - A, are used as higher order address SID =15 36 [ RESET IN
Us. TRAP C6 35 [ READY
op; — RST 7.5 .7 34 [ 10M
- de:;”' 3? and 34 (S.,, S, and I0/M) : They carry status signals which BT S g o
Y various operations. pr o O W
INTA .11 30 (2 ALE
1€ primari AD, .12 29 (38,
® Pin 30 (ALE) : It stands for address Iatc:dt’:agle and 1s primarily ygeg 0 T 7 28 A,
: us.
to latch low-order address from the multiplex :: g :; Z 3 :,
AD, 16 25 A,
AD, .17 24 A,
AD, .18 23 A,
AD, 19 2 (A,
Vg £20 21 A,




INTEL 8085 x
X, =42

® Pins 31 & 32 (WR & RD): Ti RESET OUT (33

T e phih ,“ “‘f they carry two control signals. A low sop 54
YR means a write operation and a low RD = =

® Pin 35 (READY) : Here a signal is usedmcans S : crrs
until a slow peripheral device is ready. 10 delay the 8085 opersi® ﬂ;’j z:
o Pin 36 ( RESE RSTS.5 9
m36(RESETIN):thn!h¢.:signa! on {'lu soes low the pro ~orall INTR .10
counter & the MP is reset. el wand INTA z 1
AD 12

e Pin 37 [CLK (OUT)] : I | AD, =13
devices Is a clock output and can be used for othef AD, 114
AD, CJ15

o pins 38 & 39 (HLDA & HOLD) : HOLD signal indicates that another AD. 516

g AD, 317

deﬂc" < requesting for the use of the address and data buses. HLDA signal AD, 18
wledges the HOLD request. AD, 19

Vgs 20

gokn
s pm 40 (V) : +5 V power supply.
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= RUOURUES
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INTEL 8085

PROGRAMING LANGUAGES



INTEL 8085

INSTRUCTION SET



